9

— (1 ZBEREOETEHENDREELEL

(ppm)
FEHEH A BIE B ik this 205 Fi21 5 FRE22%5 235 FRi24%5

Bl &I ER 53 0.004 0.004 0.004 0.003 0.003

hiEmH HERETE 1* 0.003 0.003 0.003 0.003 0.003

HHEH A iIRELS 53 0.002 0.002 0.002 0.002 0.003

R IRE S * 0.003 0.003 0.004 0.003 0.003

k| A x 0.003 0.003 0.003 0.003 0.003
J\IB/INERR * 0.004 0.004 0.004 — —

=L FA¥Fm % [i] 0.004 0.004 0.004 0.004 0.004

EART&R 1% 0.004 0.004 0.005 0.006 0.003

BARM BiL/INER 53 0.004 0.004 0.004 0.003 0.003

B ENERR % 0.004 0.003 0.007 0.004 0.004

BRXEH = ERAERT * — 0.003 0.003 0.003 0.003

B BT [ERE % 0.005 0.004 0.003 0.004 0.004

3—(2)—RIELERDEEHEORELTIL
(ppm)
REHRETH A BIE B FR & s T 204 TR214E Trf224 T} 234 T RL244F

Al fF IR % 0.004 0.004 0.004 0.003 0.002

g™ FERETE % 0.003 0.003 0.004 0.003 0.003

BETH P AR IR EL S % 0.005 0.006 0.006 0.005 0.004

e EESED * 0.003 0.004 0.004 0.002 0.002
J\IBINERR * 0.003 0.003 0.002 — -

FI¥Fmh ¥ [i4] 0.003 0.003 0.003 0.003 0.003

EART&RT * 0.005 0.006 0.006 0.007 0.006

EARM FILINER * 0.007 0.006 0.007 0.006 0.006

B E/NER % 0.009 0.008 0.009 0.009 0.009

SBRXEFMm SRR E3 — 0.004 0.004 0.004 0.003

B i ET [ERE * 0.005 0.006 0.005 0.005 0.004




Ly

3— (B) TERLERDFFHEDNDRFE L

(ppm)
FEHEH A BITE D Fi&this 205 F 215 FR22%5 235 TR 245
Al fF Bl R E3 0.005 0.006 0.008 0.006 0.006
hiEmH FERETE % 0.008 0.008 0.009 0.009 0.008
HHEH PR iR B % 0.007 0.007 0.008 0.007 0.007
Py BRIk L % 0.008 0.007 0.005 0.007 0.007
I\BE IR * 0.008 0.007 0.005 — —
E3#Fmh EI¥Fm & 2] 0.008 0.007 0.007 0.008 0.007
FEAR TR (£ 0.012 0.012 0.011 0.011 0.011
EARM FiLINERR % 0.010 0.011 0.010 0.008 0.009
BRI (£ 0.011 0.011 0.009 0.010 0.010
BHKXEHH = ERAERT * — 0.005 0.006 0.006 0.006
Bt ET [ERE * 0.012 0.011 0.010 0.009 0.009
3—(4) L ERDEFMOI8WNIENIEFLEIL
(ppm)
FEHETH A BITE D FRi&this 205 F 215 FR22%5 235 TR 245
Bl fF B R * 0.010 0.018 0.019 0.018 0.015
hiEmH FERETE % 0.016 0.017 0.021 0.018 0.016
HHEH PR iR B (£ 0.014 0.015 0.015 0.015 0.016
Py BRIk L % 0.016 0.013 0.011 0.016 0.014
I\BE NS * 0.020 0.016 0.014 — —
E3#Fmh EI¥Fm & 2] 0.016 0.012 0.014 0.017 0.014
FEAR TR % 0.025 0.023 0.023 0.022 0.024
EARM FiLINERR % 0.024 0.029 0.022 0.020 0.024
BRI % 0.026 0.030 0.022 0.022 0.026
BHKXEHH = ERAERT * — 0.013 0.013 0.013 0.013
Bt ET [ERE E3 0.026 0.026 0.025 0.022 0.025




87

3—(B) FBEAFRMEDFEFIENRELR

(mg/m°)
REHTETH A BIE B FR & ihis T 204 TR214E TRi224 T} 234 T RL244E

Al FF B 1% 0.025 0.025 0.024 0.024 0.022

thiEmh FERETE E3 0.024 0.022 0.021 0.019 0.020

BHEM T IR ELS 1% 0.023 0.023 0.022 0.021 0.020

1A FiIRE S E3 0.016 0.015 0.018 0.016 0.016
J\IB/INERR * 0.026 0.027 0.026 — -

=L FA¥Fm % i 0.013 0.022 0.019 0.019 0.018

EART&RT 1% 0.019 0.019 0.017 0.016 0.016

EART BILINVER E3 0.015 0.017 0.017 0.020 0.020

B EINER * 0.017 0.017 0.021 0.020 0.019

B KXEHH = B RAERT * — 0.019 0.018 0.020 0.017

=hsstiig [ERE £ 0.020 0.018 0.015 0.021 0.020




67

3—(B)RIEFZAFLIUEORE1HEEOETEDEELL

ETHETH £ BIER FA i #th 2k F k204 FRR214 k225 R 2345 $ﬁ£2z(1rﬂ)£pm)
Al FF T FiILh R * 0.029 0.042 0.041 0.035 0.034
friE FERETE * 0.022 0.040 0.037 0.031 0.034
HET™ R E S * 0.027 0.032 0.031 0.028 0.030
=] F AR IR LS * 0.024 0.032 0.033 0.028 0.030
=EEi] FEA#F & A ] 0.026 0.031 0.036 0.030 0.033
EAR™ BEARTE * 0.033 0.029 0.031 0.025 0.024
' PN S B R ERT * - 0.030 0.035 0.030 0.034
B BT EE * 0.032 0.034 0.033 0.031 0.031

3— (T HALFEAFIH D BRRE D1 KFEEA0.1200mZE X - HBDREF LI

BT E A 4 AER FA i 0 35 F R 204F 214 224 R 234 $ﬁ£2z(1rﬂ)£pm)
A FF FilsER * 0 0 1 0 0
friE FERETE 1 0 0 0 0 0
HHETM A IRE S * 0 0 0 0 0
3=kl FRB IR S 1 0 0 0 0 0
EI#Fh EA#F AT ] 0 0 0 0 0
EAR™ BEARTE 1 0 0 0 0 0
2 PN 2R RERT * - 0 0 0 0
=Faul:i) [EE * 0 1 0 0 0




